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Now that we know how to calculate the determinant of a
square matrix, we can use Cramer's Rule to solve systems
equations.

Let's start with 2 equations and 2 variables...

ax+by=c
dx+ey=f

We need to calculate the determinants for 3 - two by two
matrices. One will represent a denominator, a second will
represent the numerator of x in our answer and the third
will represent the numerator of y in our answer.

a b

Dd = This determinant will give us the
d e denominator.

D This determinant will give us the
X f numerator of x.

This determinant will give us the
numerator of y.
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[image: image6.png]How do you know when the system is inconsistent or
dependent?

IfD, =0 AND D, # 0 the equations are inconsistent

and their graphs are parallel.

If D, =0 AND D, =0 the equations are consistent
and dependent (graphs are the same line).
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IfD, =0 AND D, # 0 the equations are inconsistent

and their graphs are parallel.

If D, =0 AND D, =0 the equations are consistent
and dependent (graphs are the same line).
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